Dot =—{(Q. 1-5) Study the
following information to answer Lhe
given questions

A B, C D, E and F are seatod ina
circle facing the centre, A and C are
seated adjacent to each other and E
and B are aléo seated adjacent Lo each
other, B & to the immediate left of F.
There are 2 persons between Dand E
A'is not seated adjacent ty E

L. how many persons arc seated

between F and E If we go anli-

dockwise from FloE?

(A) 1

8) 2

<) 3

(D) Cannol be delermined

(E) Nome of these

2 Who is to the immediate left of |

E?

(A) C

(B) B

(€ F

(D) ‘Cannot be detefmined

() ‘None of these

P on—{Q1. 3-5) Fout of
following five are alike igfa
way based on their seating
AN 1l an

o

(D) DE
1 (A) BEC (B) CAD
(C) FDA (D) DFB
(E) ADF
5 (A AC (B) EB
<) CE (D) AF
(E) D,

Db —{Q. 6-10) Study the
following imformation to answer the
given guestions :

Q RS, T, U and V are seated in
a straight line facng North, S is
second to the right of T and T is

secomd to the night of Q. Ris to the
leftof Q and is second 1o the leftof V.
6, How many persons are seated

between Tand V ?

(A) 1 By 2

<) 3 (D) 4

(E) Noneof these

Four of the lollowing five are
alike in a certain way based on
their seating position in the
above arrangement and so form
a group, Which is the one that
does not belong to the group ?

-l

(A) Qv (B) VT
Ly ur

) Us

= i

dvof the following reprisents
rsons  seated at the two
extremes ?

(A) RQ {B) Us
) sQ () sR

(E) None of these
10 I5:Tand T:Q. then U:?

AT B) vV
© Q ) s
() K

Dt —(Q. 11-15) Study the
iollpwing information o arswer the
g[‘ﬂ‘;‘l‘l ques Hioms

In a certain code 4 6 1" means
‘where are you', ‘16 9" means ‘vou
are good’ and '8 6 5 2 means ‘Mlower
are not bad'.

11, What is the code of ‘not’ 7

(Al B B) &

{Cy 2 () 6ors

(E} None of these

12. What is the code of “gond’ ?

(A) 4 (8) 1

() & (D) éort

(E} None of these

13. What would be the code for
‘where not are good fowers' ?
(A) 68954 (B) 46598
(C) 45698 (D) 46589
(E} None of these

14. Which of the: follow:
ispresent “are you theré™?
(A) 617 {B) 163
(C) 618 " 8
(E) 469

may

(B) bad are
(D) are bad

None of these
E¥iseatiis —{Q. lﬁ—lﬂ}ﬂtudy the
following mformation tp answer the
given guestions

In a certain code 'geji =o' means
‘had horrible dream’, it zp pit’ means
"realize your dream’ and ‘ge ze pal
ze' means ‘very very hornble
experience’.
16, Which of the following is the

code of ‘your' ?

(&) ht

(B} 7o

() pit

(1) Camnol be determined

(E} None of these
17, ji ze pitlit" may represent—

(A) very horrible you realize

(B} you had realize vour

(C) had realize your very

(1) your very realize dream

(E} your very very had

18, ‘dream had horrible experience,
can be mded as—
(A) 2o jize
(B} patgeznii
(C) zoji gepit
(B1) Cannot be determined
(E} None of these



19. Which of the following is the
oode of ‘very”?
(A) ge
(B) pat
() ze
(D) Cannot be determined
{E) None of these
20. Which of the following is the
code of "kad’ ?
1A} ge
() i
Q) zo
(D) Cannot be determined
(E} None of these
sarttonm—(Q: 21-30) Ineach of
the guestions { sel of gueslions below
are given tivo statements followed by
two conclusions numbered | and 11
You have to assume everything in the
statements to be Lrue even il they
seem 1o be at variance from commaonly
known tacts and then dedde which of
the two given conclusions logically
follows from the information given in
the statement Give answep—
(A) lfonly conclusion | follows.
(B IHonly conclusion IT follows
{C) W either conclusion | or
corclusion 1T fol lows,
(D) ¥ neither conclusion 1 nor
conclusion 1T fol lows,
{E) H both conchisions | a
Tollimwe.
21, Statements;

Sume pin:. are clips

2 Shatements :

All ¥z are A's

All A'sare Cs.

Conelusions :

I SomeCsateD's

1L Some A'sare Vs,
B. Shilemenly:

All 1Y s are A's.

All A5 are Cl's.

Conelusions :

L AlllYsare Cs,

L SomeDr's are'nol A's.
24, Statemuents:

Al Disare A's

All A'sare C's.

Conclusions:
L Al A'sare [¥s
II. AllC'sare A's:

25, Statements ;

Alldoors are windows.
Sorne windows ate dips.
(,l"il'il‘.'.! saans 2

L Some clips are doors.
1.  Some windows are doors

26, Statements ;

Allldoors are windows.
Some windows are clips.
Conclusions;
L Some clips, if they are doors,
they are also windows.
1. Al chips which are not
widows are also not doors:
7. Slatemenls :
No shoeis a chappal.
Some chappals are sandals,

dals which are chappals

are not shioes:

Statements ;

Some paints are red.

All red which are paints are

vellow.

Cimclusions i

L Some paints are yvellow.

I Some yellow are tfed.

Siatemients ;

All seats are hot

Al belis are hot.

Conclusions:

L Some seatls are belis

I All hot are either seats ar
belts

D Alpm—{Q. 31-35) Below is

given a passage followed by several

possible inferences which can be

drawn (rom the facts stated in the

passage. You have to examine each

an,

inference separately in the context

of the passage and decide upon its
degree of tuth or falsity. Mark
answer-—

{A) If the inference is ‘definitely
true’ 1.2 it properly follows
from the staternent of facts
given.

{B) I the nference is ‘probably
true’ though not “defiditely
true’ in the light of the facts
BT

{C) If the data are inadequate (e,
‘from: the facts given vou
cannol say  whether the
inlerence is likely to be true
or false,

(D) If the infevence is “probably
false’ though not ‘defintely
latse” in the light of l:he facts
gven. ‘l"

1E) I the inference i is -:feﬁml.el?

Bk, Ifmu pet same answer for
e than one question, consider

Buth again and dedde which one of

the two would more definitely be that

answer and same way review olhers

alzo.)

Normally, dealings with banks
ivolve a number of documents and
other details, But that's not cse when
vou wish to shift from BPLR to the
base rate system. All the borrower
has to do 5 approach the branch,
from which he has taken the loan,
and give o wrilken application for the
switch. The borrower should mention
the details of existing loan therein.

31. All the borrowers are required to
shift from BPLE to the base rats
systeri.

32 There may not be a printed
application form for applyving for
this switch,

33. The existing borrowers who
wish toswitch froth BPLR o the
base rale system are being
addressed.

34 Car and Home loan borrowers
are being addressed.

35 Only the wvery high wvalue
boarmowers will mostly apply for
this switch:

de—IQL 36—40) Each of

the guestions below consists of a

question and two statements nuis-

bered | and 11 given below it You



have to decide whether the date
provided in the statements are suffi-
cient to answer the question. Read
both the statements and give
answer—

(A) If the data in stalement are |
tlone sufficien! to answer
the guestion, while the data
‘In statement 11 alone are not
sufficient to answer the
question.

If the data in statement are |
alone sufficient to answer
‘the quéstion, while the data
in statement | alone are nol

(B}

suffictent (o answer the
guestion.
(C) If the data either in state-

ment [ alome or i statement
Il alone are sufficent to
answer the question.
lf the data even in both
statements [ and [1 together
‘are not sufficient to answer
the guestion.
1f the data in both state-
menits T and 11 wopether are
necessary to answer the
queson,.
3. Who among Méera, [yoti, Pinki
and Sadhama is the tallest ?
I, Meera is not as lall as Pinki
or Sadhana
I Jyotiis taller than Sadh:
3F. How is N related to M
. Qisthe husband

(D)

{E}

. How is A

the only son of his
parents.
I A has two sisters — Band F.
32. How is X related o W 7
L Visthehusband of X
[I. W is the brotherof Zand Z's
mother is X
40. Is this college co-educational ?
. There are more female
teachers than male teachers
im this college.
. A girl known to me was the
topper from this college.
Directions—{(). 41=46) In each
question below is given a statemerit
followed by two sssumptions num-
bered | and . An asspmplion is

something suppased or taken for
granted You have lo consider the
statement and the following assump-
tions and decide whidh of the assump-
tions is implict in the statement. Give
answer—

(A} It only assumption | is
implict.
If only assumption I js
implicit.
If either assumption | or
-assuimiption 11 is implicit.
If neither assumphion | nor
assumplion [1 = implicit
If both assumption | and |1
are implicit.

(8
()
()
(E)

41. Swualement © Job rotation helps
employees get an overview of
the orzanisation:

Assumplinns:
L Job rotation i the only
method to gel an overview

SR
june,

I"enephﬁn is same as the
actual reality.
43 Stwtement : An advertisement—
The new model has been
launched with K-series engine.
Aswnplions
I People know about K-senes
rgine.
1. Engine type [ series is impor-
tant for buyers,
Statement : Molan s Nits,
“Let us meet over lunch tomor-
row”,

44

Assiusplins:

L  Lunch Bmingsare known Lo
both.

I  Both are aware of the venue
tor lunch.

45, Statemenl @ You need o be
talented to identify talent.
Aswmplions i
1. Talent s

developed.
It Talent is hereditary.

acquired and

46, Statement : The movie 5 a
super-duper hit and has broken
all the records,

Assumplions ;

I. There s no authentic
‘criterion to judge a hit or a
flop.

I The performance ol earlier

muovies is known

DV i —{Q 47-51) Study the
following information to answer the
zivien questions :

V, Uand' T are seated in a dicle
facing the cenie. A, Band C are also
seated in the same circle but two of
them are nol facing the centre (facing
opposite direction of the cmﬂf&{%]g
second tn the lefy DfLUu’- -
the right of A. Bis th
T. Clis secomd o the
seated nextto V.

(13) Camnot be determined
(E) None ol these

48 Which of the following is T's
position with respect to 87
(A) Third to the right
(B) Secmnd to the right
(C) Third tothe left
(I3) Third either to the right or
tir the left
(E) Noneof these

49. Which of the following is V's
position with resped to C ?
(A) Sewnd to/the right
(B) Third tothe left
(C) Fourth to the right
(0 Fourth to the left
(£) Cannot be determined

S0. Which of the following is true
regarding the seating arrange-
ment 7 _
(A] A, B and C are seated
adjoent
B) V, U and T are seated
adjacent
(C) There ate two persons whose
seating armangement cannol be
ascertamed
(D) Those not facing the centre
are seated adjcent
(E) There are anly two persons
seated betwe— 17 =4 %



51. Which of the following is A's

position with respect to L) 2

(A) Second to the left

(B) Second to thie right

(C) Third te the right

(2) Cannot be determined

(E) None of these

Drvcinne—{Q. 52-53) Study the
following information to answer the
given gquestions:

FLOM™ i= related to "OPFL" and
'SECONLY is related to ‘ONIDSEC”
52, 'MIXTURE' 1& refated to—

(A) TLREMIX

(B) UREMIXT

(C) URETMIX

(2) Cannot be determined

(E) Nuone of these

53, 'EXTREMES' is related to—

(A) EMESEXTR

(B) MESREEXT

(C) ESMETREX

(D) Cannot be determined

(E) None of these

Dy - —{Q. 54-60} Study the
iollnwmg mi.'annahm1 to answer the
given quesions :

A word and number arrange-
ment machine when given an input
line of words and numbers rearran-
ges them following a particular
The following is an illus
inpul and rearrangement.
: mix 12in [orm 2

' mix 12 in 35 20

S oiven in mix

Inpul

Step 1

Step U

1235 20 with 47
Step Il: are form given in mix
with 1235 20 47
Step IV @ are form are given in mx

with 47351220

: are lorm given in mix
with 473520 12
and stepV is the last Step
of the armngement of the
above input as the inten-
ded arrangemenl is
obtained.

As per the rules followed in the
above steps, find out in each of the
following questions the appropriate
sleps for the given input :

Input for the questions

Slep V

When 11 given fine 37
provide zero 9 over45
is9 eainh BY
54, Which of the following would be
theStep 1?7
tA) Fine given when 11 37
provide Zeris 90 over 45 is 19
team 89
By Fine when 11 given 37
provide zero 20 over 45 i 29
team 82
{C) Zéro when 11 given line 37
prowvide 0 over 45 1529 team B9
(D) Fine given when 90 89 11 37
provide zem over 45 is 20 feam
(E) None of these

55. Which of the following would be
on dth position (from left) in Step

Input  :

n?
(A) given (B) is
(D) U

{C) when

umber wauld be on

: (B w:hen

© u (1) provide

(E}) None of these

58 Whidh step number would be the
following output?
Fine given is over provide team
whien 11 37 Zero 90 45 29 B9
(A) IV (B) 1t
) n m v
(E) Nong of these

59. Which of the following would be
Step V 2
(A} Fine given is over provide
team when zero 9 84 4537 11 29
(B} Fine given is over provide
team when zero 11 37 90 45 29 89

{C) Fine given is over provide
tewrn when 11 37 zevo 90 45 29 89

(D) Fine given is over provide
team whenzero 11 2937 458990
(E) Nuone of these

6. - Which of the following weuld be
the final arrangement ?

(A) Zero when team provide
aver is given five 90 89 45 37 11
29

(B) Fine given is over provide
tearih when zero W1 894537 2911
(C) Fine given is over provide
teari when zero 91 B9 4537 11 29
(D) Fine given is over provide
tearn when zetvo 11 2937 45 8990
(E) Noneof these

i =—4Q. 61-65) In these
questions, relationship  between
different elements is shown in the
statemonts. These statements are
followed by two condusions. Mark
angwer— i

(A) Hnnlvmndmiml&ﬁ;im'.
(B I[unl_vmnn[usnm Tl [owes,

lemvenls @
A=B=C<=D=EFExF
Conclusions :
1. F=B8
I B=D
62 Statemenis:
P>M>Q 02N

Conclusions :

L. M=2

I. N=<P

63, Statements :

X>=Y.¥sZZ=VY.V2W
Conclusions ;
. ¥=V
I Y=V
Slalemenls
DB C>K.KsN.B=C N=B
Conclusions
. DsN
L C=K

65, Statements

B=CD>B C>K KN N<§

Conclusings :

I C=>N

I B=K

Q. 66-70) Study the

following information to anwer the
given questions :

In a group of 5, each person has
an exclusive and different preference



(has/likes) for a perny 8 watch and a
car. Pen preferences are Parker, Lamy,
Pointer, Lexi and Cello. Car prefer-
ences are WagonR, Swift, Santro,
Mica and City. Watch preferences are
Timex, Titan, Fastrack, Samay and
Citizen.

Suman has Mica and Parker but
does nol prefer among watches—
Titan or Fastrack. The one who has
Swilt, likes Fastrack. Mrudula has
proference for City, Cello and Gitizen
Amit has preference lor Lamy and
Timex. Veena prefers WagonR and
Lexi. Harsh's preference {ora watch
is not Titﬁr_s.
66, Which watch is Suman's pre-

ference 7

(A} Titan

(8B) Fastrack

(C) Samay

(D} Cannot be determined

{El ‘None of these

67. Which pen is Harsh's prefer

mee !

(A) Lamy
(B) Painter
(() Lexi

m}MIhM%

69, Who's preference is Swift 7
(A) Harsh
(B) Amit
(C) Veena
(D} Cannot be determined
(E) None of these

7. Which watch is Veena's pre-
ference 7
(A) Samay
(B) Fastrack
(C) Titan
(D) Cannot be determined
(E)  None ol these
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e tbe—{Q, 1-5) What will
copre in place of guestioremark (2) in
the following questions 7

L VBTG
(A) 105 (B) 95

(C) 115 (D) 125
(B} None of thess

—

2 (0287 + (025 x (0507 - (@:5)"

(E} Noneot these
3. 64:3% of BDO + 364 of 1300

=(M* +38
(&) 42 (B) 38
(C) 42 (D) 48
(E). 4

4. BAT 82 =13 -7 0
(A) A3 By 59
{€) a7 {57
(E) Noneof these

- 3 =5 -1 11

2 ﬂﬁ-5§=?-1j+m
! .
SR 11
(B} Noneof thess

(€3 1580 (1) 1540
(E) 1380
7. 41% of 601 = 250:17 = T — 7775
oF 910
fA) 500 (B) 500
() 700 (D) 650
tE} 550
B, 52001 = 61 w30 =7 « 41
(A} 700 (B) ofD)
1) 500 (D) 550

(E) 680

Quantitative Aptitude

1 12

o

9, %+F§xﬁ=?
(A1 700 (Y RSN
() 900 (LY 800
(E)} 630

100 VB35 % V3330 + V3e) =2
(A1 200 iB) 250
{C) 300 (D) 225
(E) 325

et —Q. =15 What will
come in place of question mark (7) in
the following number series
T 17 389 535 503 627(7)
(A) 654 18) 640
Q) end (D) 630
(£} Moneof these
1351 13 (2)
: (B) 188
(D) 187

'5-7 ") " 7.-7‘ -
'f_ 00 ()W
(C) 209 (D) 211

iF) None ol these
15 e35459 314 250 234 (7}

(A) 205 (B) 210

(C) 195 () 190

iE) None of these

=0 1620} In thee fol-

lowing questions two  equations
numbered I and Il are gives. You
havls b solve both the equations and
give answer; if—

(&) x > ¥

B x =y

C) ¥ 2 ¥

B x=syu

(B) ¥ = v orthe relationship
cemnol be established

16, 1 IRy V35 = 0
1. 'iﬁ_ oyt = 0
17 1 Byi-FHr =180 = 0
1L 2002 - T17y + 169 = 0
e Bl o i
¥ ¥x
Vi Sy _ 1
”n- {(( - 2_ = E
8 &
191 = ﬁ
vz VT
Z "
TR O
vy
2. L 2
I1. y:—
il sC% a"pole in 25

_ nd another Train @
Osses o pole in | minute and 15
econds Length of traine A s half
Tength of EaindB, What 5 the
respective ratlo between the
spe=d of Train-A and Train-B?
(A) 352
(B 3:4
(€ 4:3
(D) Canrwol be deteemined
(E) None o these
22. Veena's mimthly income is eqlial
1o the cost of 24 kg of nuts. Cost
of 1 kg of nuts is.equal to the
cost ol 20 kg of ﬂPFﬂ[{ﬁ_ I et if
12 kg of aples & T 1500, What I
Veena's annual salarv 2 [Af some
places annual inepme and in
some place monthly income is
given)
(A) T 1 lae 20 thousand
(B8] T1lac2 thousand
(€1 T2 laes 20 thousana
(L) Cannot be determined
(E] Noneof thiese
23, Rohit has some 50 pmsa comns,
sgrtte 2 rupek colis, some 1 iupee
woins and some 5 rupee coins.
The value of all the voins is 3 5.
Number of Z rupes coine s 5



2,

25,

more than the 5 rupée coins 50
paise coins are double in numiber
than 1 rupee snine Valoe of 50
P.lis"l criing and 1 rupies coins is
T 26, How many 2 rupee colns
does he have ?

(A) 4

g 2

) 7

(D) Canrtot be determined

() None ol thess

Punest seoped 175 marks In a ==t
and failed by 35 marks. It the
pasaing percentage of the test is
35 per cenl, what are the maxi-
mum marksof the test 7

(A) 85D (B) 700

(C) 750 (D} &00

1B} Nore of these

The length ol a rectangle is twice

the diametar of 4 cirele. The

dircumference of the circle 15

equal to the ares of a square of

side 22 cm. What = the breadth

ol the motangle if s perimeler is

offem 7

(A) 24¢m

(B) 26 em

() 32

(I Canrot be delermined

(E) Noneof these

4 girls can db o piece o

days, 3 bovsy can dal :

pien—: of workin 9 duys, 7

the same pi ork ave
e do the same

ays. Whois

(R Girls

(€) Women 1Y) Men

IF) Boys and Men bath

The sum of elghl consedutive
numbers of set=A is 376. What is

the sum of different set of (ive
consecillve numbers whoss

lpavest number is 15 more than

the mean of sot-A ?

L&) 295 {B) 320

() 324 (M) 284

(E) Noneof these

The ratio betwsen the adjacent
angles of & parallelogromiis 2: 3

respectively. Hall the smaller

angle of the paralleltgram is

equal 1o the smallest angle of a

249,

i I

quadrilateral. Largest angle of
quadrilateral is rour times ity
smalles! angle. What is the sum
of Targest angle of gueadeilatgral
and the smaller angle of parzl-
lelogram ?

(A) 252° ) 228°

(C) 144° (D) 180

(1) MNeww of those

Kafu purchases 350 ml of milk
every day. If cost of one liter of
milk s © 42, How much amount
Il Tee oty 5 alavs?

(A T 1008 By T L079

(€ T1L09 (D) T 1088

() Nome of these

I a  school e s 2000
students out of whom 36 per cent
are girks Each bov's imonthly few
is f 4zm and each girl’s mtmrhly
G p@r el less thar @ boy.
.r mmlm‘ the mnnfiﬂf_;-

7 _,aml

3z

If the ot of manulacturing one
television in the vear 2008 was
12,000, then what was thie total
expenditure of Company C For
manubiciuring all the Televisions
in the same year T

IA) T40 erore

(B) ¥ 52 ¢rore

(C) T52 grore

(B T4 crare

[E} €42 crome

3. What was parcenlage Incréase In
the number of televisions manu-
factured by Company-C in year
2008 a5 compared to the qmmtﬁ
vigar?

(B) 30566
() 40566 (D) 40434
(E) 43(155

['hl ferent E’nm!:.,mwﬁ in Six nifl erenl Years

O Company & lCompanyé  [OCpmpany C

o
=

.
=

(10 thwousarnd sl
=

Mutnborof Televishons

T
1T

T 1 -[1- — H

=
I

=

LIS 2005

17 25 per cent of the number pf
televisions  masiufactured by
Company A over all the years
together wete black and white,
then what was the sumber af
coloured televisions manufagt-
ured by Compang-A owver all the
vears together 7

(&) T2 lacs (BY T44WX1
(€1 T8 laws (1) 18000
(Fy 15 laes

2
YEAR

35,

0z mng

Whal was the respeclive ralio
hetweesn the number of elevis-
lons marutactired by Company-
B in year 2006 and the nuniber
of elevisions marafactored by
Company-A in pear 20057

(A) 5:4

(B) 95

{C) 4:3

(2 9:7

(E) None ot



Ve bne—I, 3640 Study the table carefully Lo answer the questions that follow :

Number of Trees Planted (in Hundreds) by Five Different NGOs in Six Dilferent Years in
Two Different States
NGO — A B L8 n E
Year State-A Mate-Tl State-A State-B || Stale-A Slate-T State-A State-D State-A State-N
2105 142 By 142 dd 45 44 43 2 a4 25
2006 216 i 7% 72 9 44 Sul 13 72 W7
2007 =5 “h 77 18 54 EE 3 63 74 &2
2R 12:4 & 14 fd o d &2 Yty 44 56 42
2000 18 124 N2:4 O B did K4 52 i 38
201D 22 42 73 42 113 A3 3 54 124 bt
36. What was the respective ratio necotions—{Q. 41-43) Study ‘What was the number of flights

betwemt the humbel ol tress
planted by NGO-A in the vear
206 i state-A and the mumber
of irees planted by NGO-E in the
year 2008 i state-B 7

A Je: 11 iBY 36:7

0 N B ) (F) 149

I;F} Norne of these

Whal was e average numberof

trees planted v NGO in the ©

state-A  over all the years '
together?

(Al 1005 (B) 1050

i) 1015 ([0 1206

1E) None ol thess
JR.

What was the approximate per
centage decrease in the m

the lellowing lable carchilly lo shs
wier thie questinms that follow

Number of Flights Cancel-
led by Five Different Air-
lines in Six Different Years

Afrtines

o |®m|s | T

<50

eice betiveen

41, W]iﬂ@ 5 | o diff 0=
%}gﬁ number of flights

-h 1q:q;r:l.rl by airlines-Q and the
Lﬁuuu' number of fighrs can-

ol lrees |':],‘1|‘|Ie|.'I hF wﬁ L (% ‘ IF.-I'pl ‘-'Cr."‘ﬂ.u..d by airlines-T out of 8l the
state B in the vear : coIm- shy years ?
pared Lo the provioss Wﬁt}'ﬁ (A} &80 (D) 44
m 28 r m (C) 432 (D) 442
_@‘3 - [F) Nistie ol Thess
42, What was the approximate per
ciznt inerease in number ol fights
34, 1’1."}:1&#!‘4(_-{_} planted the second cancelled by airlines S in the vear
fowest number of treas in both 2008 as compared to previous
thi: states together in the vear vear?
2009 2 LAY 127 (8) 27
LAY A (B)'B (C) 150 (D) 45
lC‘] o o D U:} 17
B E 43 What was the average number of

4. Number of trees planted by
NGO i the state-Ban the year
2007 was approximately what
percentage of the number of
trews planted by NGEO-A In the
state-A n the year 2009 ?

(AL 46 (B) 52
70 (L 58
(E) &1

Mights cancelled b heairtines
R, S and T in the veiir 2008 7

(&) 5B1-5 IB) 501

(T 405 (D) 4424

(E): Mone of these

H. 1E 4 per cent of [Tights in the
yvear 2000 by airlipes-R were
canesiled n.lut- 1 bad  weather
Tonditions and rest were can-
celled due totwichmical faull

comecelled due to technical fault 7

(&) 528 (8) 568 "
1C) 408 (1) .ilqﬂ
LE)

oreoli G 8
tscmulh.d by
% er.in thc

‘-rtzﬂlagn ol nimber of
cancelled by airlines-S in

glln vear 2005 7

1.%! 356 (B) 2480
(G} 265 (D) 340}
(E) 314

e 4iv-51) Sty the
information careiolly to answer the
questions that follow—

In a -:r.pnrt.ﬂ- pvent there Afe D
aportg viz. Hockevy, Crickat, Tennis,
Badmilnlon and Baseball, There is a
lotal number of 800 plavers in the
sports event. The ratio hebwesn
Feimale dnd ciale ],l| wvers is 1 0 3 kes-
pectively. Twenty fives per cent of the
total playors are in Cricket. There are
L10 badmunton: playvers. 1) per cent
ob the lotal plavers are in lennis,
Hockey plavers are double the nume-
hor of badminton plavers. Remaining
playersare in Baseball. 30 per cant of
cricket plavers are female. Hall the
temale ericketers are equal to female
badminton plavers, 10 per c=nt nf
total hockey players are equal o the
number of female plaver in Tennis.
There wre cqiid] numbers of females
in Hockev and Baseball,

46, Whal is the respective ratio bel-
ween the temale players in

Hockey and the male playess in

Badminton 7
(&) 20:13 (BY 11:20
) 13:20 W) 11:22

[B) Noime of s



47, Whatis the total mumber of ‘L'L 'II?}
males in Hockey, Cricket and ,E:;LH:][TFI @3
Basebull ogether® I =
(A) 444 (i) sS4 '
(€) 462 0) iR I6. (1C) 17 (5D 18 (&) 1%, (E) 20 (E)
{E}_ﬂ'mruﬁhgie . 21, (A Let this Aposds of the trains A

45 Number of feisle plovnes i

resmicvely.
(A) 25 () M and Lengholll = T
W 4 (D} IS S
(E) None of thes g 1 i B
. wWhat i the differsnce between yo 308
the mole: playgrs m Boseball =2 ml_mmmlrmﬂ?m

aned fiptal mumber 4 playess in ooy 2, B0
Tormis 7 m’ 12
(A) 54, 1) 7% =, Armnm) income of Veena
(Cj 56 D). ~!umpz--$
- o ‘ £ 1 Lo 2 thyMislind.
; temtinle plhivess =

. Kﬂﬁm:ﬁlmﬂiim 22K e ripitiTker if 2 mapee

mml‘:ninmuunpadhﬂr? 1

(A} Cricket and Fldrsberoty
(B) c:hmmmth
(C) Bascball and Crickst
(1) Gt and T

praarh cifl e gl t
- .'%".rﬂﬁfﬁi

1) e 220
- = =5 = {yiE)
fLD 25 (B) Circmifrence of the cirvde

- TxP - 4an

LA 2m XA 4B

1. [El

: TRy o the elacle
i - .
- lﬂtﬁ.--liﬂm
< Yangih of thy rectangie
e - - 152w w300 cm
= F o B ¥ 1 -
i bty of the
L3 =100+ B4 =187 " h'ﬂdﬂ*l ﬂmm::#
15 ) -5
W ¥ @ W 1T 3 S EOm—Then
el + 12 =¥ » < al 5 ﬂH \
W al =Q el '-’ﬂﬂﬂiﬂinslﬂiur'l..h?;ﬁ
AT=12+01=003 Wark 4 a ey for 1 day = zii_'
n4 (B) . - i
W 45 ¥ w[ s 1 “nrﬁntnmﬁulgnf_ i
l#u--”-.n I = I T ] Iﬁdwkuuwmmnhw-ldp:
=) -L-_STH " i_ﬁ'j i | B3l
1= 45+ 58=203 w Thie Jimstefficient 4 gird

cand B Doz oy e and y s

27 (1)) Asvrage :.\'IA‘»! =1 A

3 =47
o Liesint tiamibe of other nin
a AT = IG=62
. Sl ol the Smﬁhm
tutm.'ﬂ'lﬂi et i
SRR LR
i By = THD

3 (E) Thie smallest angle of pual-

ansd the smallest anide al qubdr:

Latigail )

l——.f;_'ﬂ‘-x' ﬂ*‘
Aned the largeat angle of qugde-
Labireal

G Hu.a-lbq-l}h thie schinal
= :E“.llfm—- 1250
and 7o, Gf i i thie schol
- m:ﬁ-ﬁﬁtm
Manithly fee o aach girl
- M0 e TN
- Negd, sum
P e A R ]
= G140 + I99200
= RELHN:
Rereged: auvemnbhary
=304 05 4 35 ¢ 40 o5 55

. l[ll.’l.'r-t.—i%

M. Tl

I8

= 40000 % 1ijg

= TRDOM =18 Liiw
32 (B Reqd. expenditure

w T35 1000 = 12000

= T42 e
B (A} Regd, © lacease

- %ﬁ'ﬁlm -mr
34 (D) Avvtajge titriber

2530+ 48
_._--‘ﬂdrﬁﬁﬁq-g}i. it

- '——2‘5:‘—'";#17;;4_ (Appd



35 (D) Regd o =45-35=9-7 Jmi00
W (1) Retio « 21642367 @A) Reyd ' = gy = 2R
37 (A) Average number 49, (B Reqd. difference
(4279 4 TT 104 - 16 (245K
- - '.'1,!!1 ] = I-ﬁ - 8i) = 65
POTTNEE 50, (D) Cricket and Tensiy
o WS g () (581
&
3B (B)E docroan:
(8:2—6:4d) x 100 o
- 52
- 21—951
= 2% (App)

M. (D) A = 32, B =144,
G = 154 D=134
E w7
O (D) Rega s = 05
= SR
= 5B LApp)
it (B)

Regd. diffenmae = 650 - 258
N .‘m:
€L (B) Reqd. W imcroise
=@ﬂ$!‘lm

= A%

= 22 {App)
41 B) Avesuge number

No. af male players = K0 and
Mo af fimale players =200
' e Feiriale | Male
| % :m' '-! - 'H- =A
Hedy =0 0# 176
| Crtichel | ) 14
Tuntin - 58
‘Budmibiitun 6] Al
Bis=bll 44 146

4. [[B) Rogd. ratin'= 44 080
| = T1:21
A7, (C) Risyd. msiribier
- AT+ T 4 186
& §a -




